Sr Questions Answers Choice

1 = AP(1+0)t

—A— 0>

. 20750 50
. 20850 50
20950 50
21000 =0

2 S, S V250 sis 25,83.800 Sy 1S S L

s =
-
P =
Jd =

3 ot S K S s paddiog

BYY B
¢ =
&3
B
o83

¢ =

4 St Sl S adde

5 B 5 (S S g pmideg

6 i i QST S ol IS (e S

7 LS 5 e S5 o 0 By g 5 L LSS e S o penia S L S Al

8 2SS S SR K g (e K BT (e S

9 S 28 S s S S i

10 ) 581 8 g S g ) G S con
u;\::é\ts u?ﬂ d)l.n

w S G Sk
b S i
up S adlie

S o
U S EnglSs
up S Gl Sl

oSS s
o S 35
O S i) s

S el Gy 2

11 ol 2 US deals g San ) sa gy I a8

12 Sl & S ) S35

13 o o 5 SIS dae S i) 5 s S

O S sl

PRI
S 1S
oSS 654
ub Cu,S Bl =

L oS S Sy

L S DS sl

14 s (S i)l (S g b padd 0

15 25 WS ol a5 50 (S SR Sy e G5Bl S5k (S S

OOW>r UOW » 0OWr DOWP UOWP» 0U0Wr UOWr UO®P» 00®Wr U0WP» UO®P OU0WP U0WP» 0OWm» 00W>
.
¢
i
£
3
r






